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« 7|CHZf Practice (2/3)

. 0|2 7|7 9|u+°40| & 080 H HeHE & A g 2}
of 7{el ‘GAtE 70% |1 o] &R 1000_4%, 5 ) 0
ZHato| 7{eH “M 2 40%0|1 OI 8% 15 =

« 2t nZHutof 742| EEPE M= %.EJ—*.OIEP e [ QfEkH#

=1 == d0oiel7t?
« FEE QEHO| HE B+ X ={0,1000,1500, 2500}

s HEYUT XOHEEE f(v)
* f(0)=(1-0.7)(1—-0.4) =0.18, £(1000) = (0.7)(1 — 0.4) = 0.28,
£(1500) = (1 —0.7)(0.4) = 0.42, £(2500) = (0.7)(0.4) = 0.12

 u=E(X)=1(0)(0.18) + (1000)(0.28) + (1500)(0.42) +
(2500)(0.12) = 1300
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« 292 @5 4A|0| M 5A| AFO|0f| MIEFEHOI A AMH|AE dt
S ol 42 y2ln ¥ o, xol HEREEI O 28
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F(Deviation)O|04, ¢ A2

HR
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E{ 9]
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=
. E4to| &0l
« EAHO| ol MEZ 2 uE Xe| EEMRI(Standard deviation)
olgtz &
& Cf ZHEre B4
o O'Z E[XZ] _ I"Z
o % %' o = Z{ﬂ: —pu)f(x) = Z{IE — 2uzx + p?) f(z)
:ZIE}’ —E;LZJ;“{I -I—,[LEZI{T)
Since p = ZI f(z) by definition, and Z f(x) = 1 for any discrete probability
distribution, 1t follows that
o’ = Z:cgf{:c) —p? = E(X?%) — i
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« EEHT g(X) 2| 24 Practice
- SLUEIRICZRE 3710 BEE5S FE3I01 AAL HEHT
X= 80| e #5280/, xo| EEZ7t ofel 2
[HE [, =&H(o?)2?
I T U PR
f(x) 051 038 010 0.01
)
. (0)(0.51) + (1)(0.38) + (2)(0.10) + (3)(0.01) = 0.61
+ E(X2)
. (0)(0.51) + (1)(0.38) + (4)(0.10) + (9)(0.01) = 0.87
¢ g2

. 02 = E[X?] - u2= 0.87 — (0.61)2 = 0.4979
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